GUIDE AND GAGE

GLOBAL STANDARD CDMPONENTS

COMPONENTS

IN DEX Stamping 02/11/22
PAGE DATE SERIES DESCRIPTION
G-1 02/11/22 Guide and Gage Components Index
G-1.1 12/02/19 Guide and Gage Components Index
G-1.2 02/11/22 Guide and Gage Components Index
G-2 08/12/97 GO01 & G02 Self-Lube Guide Block
G-3 01/03/95 GO1 Self-Lube Guide Block (45mm) Coding
G4 01/03/95 G02 Self-Lube Guide Block (60mm) Coding
G-5 08/12/97 G11 Self-Lube Corner Guide Blocks
G-6 05/19/00 Discontinued 65 mm Wide U & V Blocks
G-7 05/19/00 Discontinued 65 mm Wide U & V Blocks
G-8 05/19/00 Discontinued 75 mm Wide U & V Blocks
G-9 05/19/00 Discontinued 75 mm Wide U & V Blocks
G-10 06/20/03 Discontinued 125 mm Wide U & V Blocks
G-11 05/19/00 Discontinued 125 mm Wide U & V Blocks
G-12 05/19/00 G41, G42 & G43 Center Key Guide and Center Key
G-13 05/19/00 G50 Shoulder Guide Post/Pin
G-14 05/19/00 G50 Shoulder Guide Post/Pin Coding
G-15 05/19/00 G51 Guide Post/Pin
G-16 10/17/05 G51 Guide Post/Pin Coding
G-17 04/10/15 G61 Guide Post/Pin Bronze Bushing
G-18 04/10/15 G71 Bronze Pad Bushing
G-19 04/10/15 Discontinued Bushing Toe Clamp
G-20 08/09/17 G72 & G73 Bushing Clamping Procedures
G-21 05/19/00 G81 Finger Gage
G-22 05/19/00 Discontinued Balancing Cones
G-23 05/19/00 Discontinued Balancing Cones Coding
G-24 10/19/01 G82 Disappearing Gage
G-25 04/14/15 Discontinued 175 mm Wide U & V Blocks
G-26 04/14/15 Discontinued 175 mm Wide U & V Blocks

© 2017 USCAR www.naamsstandards.org This document is Uncontrolled when printed. G-1




GUIDE AN D GAGE GLOBAL STANDARD COMPOETS
INDEX Stamping 02/11/22

PAGE DATE SERIES DESCRIPTION

G-27 12/19/12 Blank Page

G-28 12/19/12 Blank Page

G-29 12/19/12 Blank Page

G-30 12/19/12 Blank Page

G-31 12/19/12 Blank Page

G-32 12/19/12 Blank Page

G-33 12/19/12 Blank Page

G-34 01/29/13 Blank Page

G-35 01/29/13 Blank Page

G-36 08/01/11 G56 Blank Crowder

G-37 08/01/11 G56 Blank Crowder

G-38 08/01/11 Blank Page

G-39 08/01/11 Blank Page

G-40 08/01/11 G95 Trim Tab Pilot Gage

G-41 08/01/11 G95 Trim Tab Pilot Gage

G-42 08/01/11 G95 Trim Tab Pilot Gage

G-43 08/01/11 G95 Trim Tab Pilot Gage

G-44 08/01/11 G95 Trim Tab Pilot Gage

G-45 08/01/11 G9o5 Trim Tab Pilot Gage

G-46 12/19/12 G9o6 Adjustable Bar Gage/Sensor
G-47 12/19/12 GO6 Adjustable Bar Gage/Sensor
G-48 12/19/12 G96 Adjustable Bar Gage/Sensor
G-49 04/23/14 G97 65 mm V Block

G-50 04/23/14 G98 65 mm U Block

G-51 04/23/14 G99 125 mm V Block

G-52 04/23/14 G100 125 mm U Block

G-53 06/13/17 Discontinued Guide Pin Bushing Toe Clamps
G-54 04/14/15 G103 Balancing Cones

© 2017 USCAR

www.naamsstandards.org

This document is uncontrolled when printed. G-1.




GUIDE AN D GAGE GLOBAL STANDARD COMPOETS
INDEX Stamping 12114121
PAGE DATE SERIES DESCRIPTION
G-55 04/14/15 G103 Balancing Cone Shim & Coding
G-56 06/10/17 G104 @50 HD Guide Keeper
G-57 06/10/17 G104 @50 HD Guide Keeper
G-58 06/10/17 G104 @50 HD Guide Keeper
G-59 06/10/17 G104 @50 HD Guide Keeper
G-60 06/10/17 G104 50 HD Guide Keeper
G-61 06/24/17 G105 236 HD Guide Keeper
G-62 06/24/17 G105 36 HD Guide Keeper
G-63 06/24/17 G105 2336 HD Guide Keeper
G-64 06/24/17 G105 @236 HD Guide Keeper
G-65 06/24/17 G105 @36 HD Guide Keeper
G-66 06/25/17 G106 @65 HD Guide Keeper
G-67 06/25/17 G106 @65 HD Guide Keeper
G-68 06/25/17 G106 @65 HD Guide Keeper
G-69 06/25/17 G106 @65 HD Guide Keeper
G-70 06/25/17 G106 @65 HD Guide Keeper
G-71 03/19/21 G107 Panel Blank Support Assembly
G-72 03/19/21 G107 Panel Blank Support Assembly Index
G-73 03/19/21 G107 Mounting Block
G-74 03/19/21 G107 Blank Support Pin
G-75 03/19/21 G107 Guide / Keeper Block
G-76 03/19/21 G107 Pusher Plate
G-77 12/14/21 G108 Shim - Balance Block
G-78 02/11/22 G109 Shim - Wear Plate
G-79 02/11/22 G109 Shim - Wear Plate Coding

© 2017 USCAR www.naamsstandards.org

This document is uncontrolled when printed.

G-1.2



(GO1 & GO02 SERIES)

SELF'LUBE GLOBAL STANDARD C‘.DMPENTS

GUIDE BLOCKS .NAAMS "

Stamping 08/12/97

P 4 \ , N
/ \ / \ / \
- - -
A a \ , \ /
~F N 7 N 7
. N
/ \

F —_— N o
128 FOR M12
(2) HOLES SOC. HD. SCR.
(N) HOLES
GRAPHITE PLUGS
THIS SURFACE
.«
o ® ® .
® ® [ ) i T
® o ®
|
|

NOTES & SPECIFICATIONS:

Screw hole locations +0.25
Dowel hole locations +0.10

Break all sharp edges 0.4 x 45°
Material, steel. Surface harden cross-hatched areas.
Evenly distributed graphite plugs to cover 20-30% of the area that requires lubrication.

CODING ON FOLLOWING PAGE

©1997 Auto/Steel Partnership www.naamsstandards.org This document is Uncontrolled when printed.




SELF-LUBE GUIDE
BLOCK CODING

™

GLOBAL STANDARD CDMPDNENTS

(GO1 SERIES) Stamping 01/03/95

45 mm WIDE

NAAMS (N)

CODE HOLES| L A B [ D E F H J W
G014007 2 75 _ _ 38 51

G014010 2 | 100 _ _ 63 76

G014012 3 | 125 — | 505 ]| 88 | 101

G014015 3 | 150 — 63 | 113 | 126

G014017 3 | 175 — | 755 | 138 | 151 | 18 33 40 15
G014020 4 | 200 | 63 | 113 | 163 | 176

G014022 4 | 225 | 73 | 128 | 188 | 201

G014025 4 | 250 | 83 | 153 | 213 | 226

G014507 2 75 _ _ 38 51

G014510 2 | 100 - - 63 76

G014512 3 | 125 — | 505 ]| 88 | 101

G014515 3 | 150 — 63 | 113 | 126

G014517 3 | 175 — [ 755 | 138 | 151 | 18 | 33 | 45 | 25
G014520 4 | 200 | 63 | 113 | 163 | 176

G014522 4 | 225 | 73 | 128 | 188 | 201

G014525 4 | 250 | 83 | 153 | 213 | 226

G015007 2 75 _ _ 38 51

G015010 2 | 100 — — 63 76

G015012 3 | 125 — | 505 | 88 | 101

G015015 3 | 150 _ 63 | 113 | 126

G015017 3 | 175 — | 755|138 | 151 | 18 33 50 | 30 | 45
G015020 4 | 200 | 63 | 113 | 163 | 176

G015022 4 | 225 | 73 | 128 | 188 | 201

G015025 4 | 250 | 83 | 153 | 213 | 226

G016007 2 75 _ _ 38 51

G016010 2 | 100 _ _ 63 76

G016012 3 | 125 — | 505 | 88 | 101

G016015 3 | 150 — 63 | 113 | 126

G016017 3 | 175 — | 755 | 138 | 151 | 18 33 60 30
G016020 4 | 200 | 63 | 113 | 163 | 176

G016022 4 | 225 | 73 | 128 | 188 | 201

G016025 4 | 250 | 83 | 153 | 213 | 226

G017507 2 75 _ _ 38 51

G017510 2 | 100 - - 63 76

G017512 3 | 125 — | 505 | 88 | 101

G017515 3 | 150 — 63 | 113 | 126

G017517 3 | 175 — | 755|138 | 151 | 18 33 75 30
G017520 4 | 200 | 63 | 113 | 163 | 176

G017522 4 | 225 | 73 | 128 | 188 | 201

G017525 4 | 250 | 83 | 153 | 213 | 226

CODING CONTINUED ON FOLLOWING PAGE

©1997 Auto/Steel Partnership

www.naamsstandards.org

This document is Uncontrolled when printed.

G-3



SELF-LUBE GUIDE
BLOCK CODING

(G02 SERIES)

GLOBAL STANDARD C‘.DMPDNENTS

™

01/03/95

©1997 Auto/Steel Partnership

Stamping
60 mm WIDE
NAAMS N)
CODE HOLES| L A B [ D E F H J W
G025007 2 75 - - 38 51
G025010 2 | 100 - - 63 76
G025012 3 | 125 — | 505 | 88 | 101
G025015 3 | 150 - 63 | 113 | 126
G025017 3 | 175 — [ 755 | 138 | 151 | 33 48 | 50 | 30
G025020 4 | 200 | 63 | 113 | 163 | 176
G025022 4 | 225 | 73 | 128 | 188 | 201
G025025 4 | 250 | 83 | 153 | 213 | 226
G026007 2 75 _ _ 38 51
G026010 2 | 100 - - 63 76
G026012 3 | 125 — | 505 | 88 | 101
G026015 3 | 150 - 63 | 113 | 126
G026017 3 | 175 | — | 755 | 138 | 151 | 33 | 48 | 60 | 30 | 60
G026020 4 | 200 | 63 | 113 | 163 | 176
G026022 4 | 225 | 73 | 128 | 188 | 201
G026025 4 | 250 | 83 | 153 | 213 | 226
G028007 2 75 _ _ 38 51
G028010 2 | 100 - - 63 76
G028012 3 | 125 — | 505 | 88 | 101
G028015 3 | 150 - 63 | 113 | 126
G028017 3 | 175 | - | 755 | 138 | 151 | 33 | 48 | 80 | 30
G028020 4 | 200 | 63 | 113 | 163 | 176
G028022 4 | 225 | 73 | 128 | 188 | 201
G028025 4 | 250 | 83 | 153 | 213 | 226
G020007 2 75 - - 38 51
G020010 2 | 100 - - 63 76
G020012 3 | 125 — | 505 | 88 | 101
G020015 3 | 150 - 63 | 113 | 126
G020017 3 | 175 | - | 755 | 138 | 151 | 93 | 48 | 100 | 30
G020020 4 | 200 | 63 | 113 | 163 | 176
G020022 4 | 225 | 73 | 128 | 188 | 201
G020025 4 | 250 | 83 | 153 | 213 | 226
www.naamsstandards.org This document is Uncontrolled when printed. G-4



NOTES & SPECIFICATIONS:

Screw hole locations +0.25
Dowel hole locations +0.10

Material, steel. Grind as shown.
Evenly distributed graphite plugs to cover 20-30% of the area that requires lubrication.

SELF-LUBE GLOBAL STANDARD COMPONENTS
NAAMS:
CORNER GUIDE BLOCKS ™ N
FOR M16 SOC.
HD. SCR. (2) HOLES . |
(2)%12)6@2 = P/
‘B —= 25 e
\
@ o
i it .-
=1 ¢
L
- o . e
L —4 10 S S — ———
o1+ = | N ISR @®
08 20 Kﬁ | ﬁ}/
SMOCKXOOCKK
1]0.025 B ? INIAN 1]0.025] A
—_— 32 -
A BREAK ALL SHARP EDGES
0 0.4 x 45° EXCEPT AS SHOWN
6 x 45°
CHAMFER—= = SURFACE HARDEN & GRAPHITE PLUG
CROSS-HATCHED AREAS
NAAMS
CODE H A B C D L
G118007 75
G118010 100 25 35 40 55 80
G118012 125
G119507 75
G119510 100 40 50 55 70 95
G119512 125
G111207 75
G111210 100 65 75 80 95 120
G111212 125

©1997 Auto/Steel Partnership

www.naamsstandards.org

This document is Uncontrolled when printed.




65 mm WIDE U &V
BLOCKS ~-NAAMS 5

(G15 SERIES) Stamping
FEMALE “U” BLOCK
R 12 G6 &K 16
C'BORE (2) HOLES 20 &
%X?‘F“L’,',\'jl wor . 0 25 50 A B C L
; N i =3
B E5x45°

90°
ALL
CORNERS |/ ].025 |A

FOR M12 SOC. HD. 3X45°4F 3]

SCR. (N) HOLES

ISy JTM
K111

TYPICAL SECTION
"U" & "V" BLOCK ASSEMBLY

FEMALE “U” BLOCK
NAAMS| L | A| B| C| N
CODE
G157515| 150| — | 100| 125| 2
G157520| 200 — | 150| 175| 2
G157525| 250| 125| 200| 225| 3
G157530] 300] 150] 250] 275 3

NOTES & SPECIFICATIONS:
Material, steel

Surface harden cross-hatched areas.

Tolerance between screw holes +0.12
Tolerance between dowel holes +0.10

L9 All over except where otherwise stated.
Break all sharp corners.

©1997 Auto/Steel Partnership www.naamsstandards.org This document is Uncontrolled when printed. G-6



65 mmWIDE U &V
BLOCKS

(G16 & G17 SERIES)

GLOBAL STANDARD COMPONENTS

~NAAMS 5

05/19/00

Stamping

MALE “V” BLOCK

K12 G6
(2) HOLES

STAMP
DATUM "0" . 0

—GRAPHITE PLUGS
THESE SURFACES
ON MALE DRIVE ONLY

39| 13

0
|

FOR M12 SOC. HD.
SCR. (N) HOLES

ALL CORNERS

o

;,\
1200 <
!

// 1.025 | A

—=||=—3x45°

MALE “V” BLOCK
NAAMS [ NAAMS | L | A| B | C | N
CODE(X) | CODE(Y)
G167515|G177515|150| — [100| 125] 2
G167520|G177520|200| — [150|175| 2
G167525| G177525| 250 | 125]200| 225| 3
G1675301G177530]|300]150[250(275]| 3

NOTES & SPECIFICATIONS:
Material, steel or bronze

Use code X for steel
Use code Y for bronze
Surface harden cross-hatched areas on steel.

Tolerance between screw holes +0.12
Tolerance between dowel holes +0.10

& All over except where otherwise stated.
Break all sharp corners

lubrication

TYPICAL SECTION
"U" & "V" BLOCK ASSEMBLY

Male “V” driver requires evenly distributed graphite plugs to cover 20-30% of the surface that requires

©1997 Auto/Steel Partnership www.naamsstandards.org

This document is Uncontrolled when printed.




75 mm WIDE U & V
BLOCKS

(G21 SERIES)

GLOBAL STANDARD COMPONENTS

-NAAMS

Stamping

05/19/00

FEMALE “U” BLOCK

X 12 G6 & 16
C'BORE (2) HOLES
Sy N\ 25 50 A B C
0

5 x 45°

90°
ALL

CORNERS |/ 1.025 |A

FOR M12 SOC. HD.
SCR. (N) HOLES

3x45°4‘F 5
(%)

Lt |
K
L
-3
[&)]
I+
o
o
a

TYPICAL SECTION
"U" & "V" BLOCK ASSEMBLY

FEMALE “U” BLOCK
NAAMS| L | A| B| C | N
CODE
G217515| 150| — | 100| 125| 2
G217520| 200 — | 150| 175| 2
G217525| 250| 125| 200| 225| 3
G217530] 300| 150] 250]| 275 3

Material, steel

NOTES & SPECIFICATIONS:

Surface harden cross-hatched areas.

Tolerance between screw holes +0.12
Tolerance between dowel holes +0.10

L9 All over except where otherwise stated.
Break all sharp corners.

©1997 Auto/Steel Partnership

www.naamsstandards.org

This document is Uncontrolled when printed.

G-8




75 mm WIDE U & V
BLOCKS

GLOBAL STANDARD COMPONENTS

NAAMS

(G22 & G23 SERIES) Stamping 05/19/00
MALE “V” BLOCK
GRAPHITE PLUGS
X 12 G6
THESE SURFACES
(2) HOLES ON MALE DRIVE ONLY
STAMP
DATUM"0"—. 0 25 50 5 x 45° 3913 0
| A
S I R
47 510013 @ \
g0 - o= N oo
90° —=[=—3x45°
FORM12 SOC. HD.  ALL CORNERS
SCR. (N) HOLES
| |
it
|
‘ | 10.05
[ | ‘ ! ] 65
I L
T 77 71
| |
TYPICAL SECTION
"U" & "V" BLOCK ASSEMBLY
MALE “V” BLOCK
NAAMS [ NAAMS | L | A|[ B| C | N
CODE(X) | CODE(Y)
G227515| G237515/150| — | 100[125] 2
G227520| G237520[200| — |150[175] 2
G227525| G237525] 250 | 125| 200( 225| 3
G227530] G237530] 300 150 250[ 275] 3

NOTES & SPECIFICATIONS:
Material, steel or bronze

Use code X for steel
Use code Y for bronze
Surface harden cross-hatched areas on steel.

Tolerance between screw holes +0.12
Tolerance between dowel holes +0.10

L& All over except where otherwise stated.
Break all sharp corners

Male “V” driver requires evenly distributed graphite plugs to cover 20-30% of the surface that requires
lubrication

This document is Uncontrolled when printed. G-9

©1997 Auto/Steel Partnership www.naamsstandards.org



GLOBAL STANDARD C‘.DMPDNENTS

wrnaeevsy  NAAMS

N\ %
Y

N

(G31 SERIES) Stamping 06/20/03

FEMALE “U” BLOCK

STAMP 0 1527 60 <
S M 0 25 50 A B C L ‘ ‘ ‘ ‘
. N\ : _
<\ I5x45o 10R
62 510013
1 216 G6
FOR M16 SOC. HD. (2) HOLES
SCR. (N) HOLES f' 3 X 45° —
7777777777777777777777777 900
1251r0.02<5 , ALL //1.025 [ A
CORNERS
i R
A
|
EaN
: | 851005
L | ! L L
| |
I -
! ‘
FEMALE “U” BLOCK "U" & "V" BLOCK ASSEMBLY
NAAMS | L | Al B| C| N
CODE
G311215] 150] — | 100| 125] 2
G311220| 200 — | 150|175 2
G311225| 250| 125] 200| 225| 3
G311230| 300| 150] 2501 275 3

NOTES & SPECIFICATIONS:
Material, steel

Surface harden cross-hatched areas.

Tolerance between screw holes +0.12
Tolerance between dowel holes +0.10

8 All over except where otherwise stated.
Break all sharp corners.

©1997 Auto/Steel Partnership www.naamsstandards.org This document is Uncontrolled when printed. G-10



125 mm WIDE U & V GLOBAL STANDARD COMPONENTS

BLOCKS .NAAMS

(G32 & G33 SERIES) Stamping 05/19/00

MALE “V” BLOCK

STAMP 0 25 50

DATUM "0" GRAPHITE

‘ PLUGS THESE
SURFACES ON

A B C
|
0 { 77777 [ ————— }w MALE DRIVE
ONLY

0%

X 16 G6

N

| |
62.5i0'013@—@ {—Ei % 120°
I | \\
%

FOR M16 SOC. HD.
SCR. (N) HOLES @h 8%%5%/' £
20 DEEP L
o500~ - /10.025/A]
90° ALL L ‘
CORNERS 5 x 45° —=— ——3 x 45°

MALE v BLOGK U" & "V" BLOCK ASSEMBLY
NAAMS [NAAMS | L | A B| C | N
CODE(X) | CODE(Y)
G321215| G331215]150| — | 100|125| 2
G321220| G331220|200| — | 150|175] 2
G321225| G331225| 250 125|200 225| 3
G321230| G331230] 300 150| 2501 275| 3

NOTES & SPECIFICATIONS:
Material, steel or bronze

Use code X for steel
Use code Y for bronze
Surface harden cross-hatched areas on steel.

Tolerance between screw holes +0.12
Tolerance between dowel holes +0.10

8 All over except where otherwise stated.
Break all sharp corners

Male “V” driver requires evenly distributed graphite plugs to cover 20—30% of the surface that
requires lubrication

©1997 Auto/Steel Partnership www.naamsstandards.org This document is Uncontrolled when printed. G-11



CENTER KEY GUIDE
AND CENTER KEY

GLOBAL STANDARD COMPONENTS

-NAAMS

Use Code X for steel, Code Y for bronze.

NOTES & SPECIFICATIONS:
Tolerance between screw holes +0.25
Tolerance between dowel holes +0.10
Material, steel or bronze. Surface harden cross-hatched areas on steel.
Evenly distributed graphite plugs to cover 20-30% of the area that requires lubrication.

(G41, G42 & G43 SERIES) Stamping 05/19/00
CENTER KEY GUIDE (G41) CENTER KEY (G42 & G43)
X 12 G6 X 12 G6
(2) HOLES (2) HOLES
‘ T | -
¥ o
C © A
| %— B (®\§ B
| C
[ [ |
! w M12 x 1.75 TAP M12 X 1.75 TAP
| ! PULLOUT HOLE PULLOUT HOLE
L | | (2) HOLES (2) HOLES
A—+— D A * @\
BN
| | FOR M12 FOR M12
‘ ‘ SOC HD. SCR. | SOC HD. SCR.
‘ ‘ “N” HOLES 1 “N” HOLES
| -
@ —1—50 D 50
bR - -
25— @ : 25 I @
I @ : { | { :
e 15 0 B T
* +0.00 ?
—— DoweL %2 +0.00
CENTRAL —={ 20~ DOWEL %%
0 CENTRAL
= GRAPHITE PLUG
THESE SURFACES
3 x 45° 9 2 x 45° |
1o T a7y R N TR B
+0.0 f 22 00 1 B 26 LUBE AREA
5004 < A T 44704 Evoii S E—
= T ? 0 1]0.02]|B
2 X 45° =
+0.02 pd 2 +0.00
—~ 407000 /02| B —~— 39.97 002
20 CENT. _B_
NAAMS | NAAMS
CODE(X) |CODE (Y)| A B c D L “N”
G419020 - 120 | 145 | 170 | 200 2
G419030 135 220 245 270 300 3
G424020 | G434020| - 120 | 145 | 170 | 200 2
G424030| G434030| 135 | 220 | 245 | 270 | 300 3

©1997 Auto/Steel Partnership

www.naamsstandards.org

This document is Uncontrolled when printed.

G-12




GLOBAL STANDARD COMPONENTS

SHOULDER GUIDE .
POST/PIN JNAAMS &7

(G50 SERIES) Stamping 05/19/00

4° TO 6° LEAD (R20 OPTIONAL)

2 LEAD LENGTH

32, 40, 50, & 63 DIA. GUIDE POSTS TO HAVE M8 x 1.25 —
12 LONG THREAD; 80, 100, & 115 DIA. GUIDE POSTS TO
HAVE M12 x 1.75 — 18 LONG THREAD TO FACILITATE
HANDLING FROM DEEP FREEZE.

18
Joala “Ja 000e[a]
—— G- CIRCLE X
_ 04
X D3 X D2r6 - 1\

R1

CENTER DRILL, BOTH ENDS TO
MANUFACTURER'S CHOICE

— L1 -

A

IRV ERNIE

h6 R1
D2r6 \L

VIEW IN CIRCLE X

©1997 Auto/Steel Partnership www.naamsstandards.org This document is Uncontrolled when printed. G-13



SHOULDER GUIDE
POST/PIN CODING

(G50 SERIES)

GLOBAL STANDARD CDMPDNENTS

.NAAMS

©1997 Auto/Steel Partnership www.naamsstandards.org

Stamping 05/19/00

NAAMS

CODE D1 D2 D3 L1 L2 L3 R1
G504016 160
G504018 180
G504020 40 40 50 200 56 8 2
G504022 225
G504025 250
G505016 160
G505018 180
G505020 200
G505022 50 50 63 225 70 10 25
G505025 250
G505028 280
G505031 315
G506320 200
G506322 225
G506325 250
G506328 63 63 80 280 80 10 25
G506331 315
G506335 355
G506340 400
G508025 250
G508028 280
G508031 80 80 100 | 315 | 100 10 3
G508035 355
G508040 400
G501031 315
G501035 100 100 125 355 125 10 3
501040 400

This document is Uncontrolled when printed. G-14




GUIDE GLOBAL STANDARD COMPONENTS

POST/PIN -NAAMS 5"

(G51 SERIES) Stamping 05/19/00

4° TO 6° LEAD (R20 OPTIONAL)

4

2 LEAD LENGTH

32, 40, 50, & 63 DIA. GUIDE POSTS TO HAVE M8 x 1.25 —
12 LONG THREAD; 80, 100, & 115 DIA. GUIDE POSTS TO
HAVE M12 x 1.75 — 18 LONG THREAD TO FACILITATE
HANDLING FROM DEEP FREEZE.

18

o 00

— o 8 |-

0.5

CIRCLE X

0.5R R1

!

CENTER DRILL, BOTH ENDS TO
MANUFACTURER'S CHOICE

- L1 -
T T
5° 3/4°
R1
D2,
VIEW IN CIRCLE X VIEW IN CIRCLE X
OPTIONAL CONSTRUCTION

NOTES & SPECIFICATIONS:

Hardened steel
CODING ON FOLLOWING PAGE

©1997 Auto/Steel Partnership www.naamsstandards.org This document is Uncontrolled when printed. G-15



GUIDE POST/PIN

GLOBAL STANDARD CDMPONENTS

i AN
CODING ™ Lannarn
( G51 SERIES) Stamping 10/17/05

NAAMS

CODE D1 D2 L1 L2 L3 R1
G512508 80
G512510 100
G512512 125
G512514 25 25 140 40 8 2
G512516 160
G512518 180
G513210 100
G513212 125
G513214 140
5513216 32 32 160 45 8 2
G513218 180
G513220 200
G514016 160
G514018 180
G514020 40 40 200 56 8 2
G514022 225
G514025 250
G515016 160
G515018 180
G515020 200
G515022 50 50 225 70 10 25
G515025 250
G515028 280
G515031 315
G516320 200
G516322 225
G516325 250
G516328 280
5516331 63 63 315 80 10 25
G516335 355
G516340 400
G516350 500
G518025 250
G518028 280
G518031 315
5218035 80 80 355 100 10 3
G518040 400
G518050 500
G511031 315
G511035 355
5511040 100 100 400 125 10 3
G511050 500
G511140 400
5211150 115 115 500 140 10 3
G511240 400
G511245 450
G511250 500
G511255 125 125 550 140 10 3
G511260 600
G511265 650
G511270 700

©1997 Auto/Steel Partnership www.naamsstandards.org This document is Uncontrolled when printed. G-16




GLOBAL STANDARD COMPONENTS
(G61 SERIES) Stamping 04/10/15
1 L3 -
50
T M e
/
R1/
L)
@D3 @D4 ® O @D2
2R
- /
-
A 020.02[A|
+0.12
‘ 6-0.00
o
L2
L1

NAAMS

CODE D1 D2 D3 D4 L1 L2 L3 R1

G612540 25 32 40 32 40 30 4 3

G613250 32 40 50 40 50 40 4 3

G614063 40 50 63 50 63 50 5 3

G615071 50 63 71 63 71 56 6 5

G616380 63 80 90 80 80 63 8 6

G618010 80 100 112 100 100 80 10 8

G611012 100 125 140 125 125 106 12 10

G611114 115 140 155 140 140 120 12 10

G611216 125 160 180 160 160 132 12 12

NOTES & SPECIFICATIONS:

Order bushing clamps separately.
E venly distributed graphite to cover 20-30% of the sliding surface.
Graphite to be positioned to insure overlapping in the slide direction.

©1997 Auto/Steel Partnership

www.naamsstandards.org

This document is Uncontrolled when printed.



BRONZE PAD
BUSHING

GLOBAL STANDARD COMPONENTS

™
(G71 SERIES) Stamping 04/10/15
L]o.1]A]
L2 e —
50
T — 6
—< I
// /
4 00 o
® 00 it
@D3 ._. @D2
2R
0.6
2y /
| L
|-A- 0]@0.02/A|
R
L1
NAAMS
CODE D1 D2 D3 L1 L2
G712540 25 32 40 40 4
G713250 32 40 50 50 4
G714055 40 50 63 55 5
G715063 50 63 71 63 6
G716375 63 80 90 75 8
G718090 80 100 112 90 10
G711011 100 125 140 115 12
G711213 125 160 180 138 12
NOTES & SPECIFICATIONS:
Order bushing clamps separately.
E venly distributed graphite to cover 20-30% of the sliding surface.
Graphite to be positioned to insure overlapping in the slide direction.
This document.is Uncontrolled when printed. G-18

©1997 Auto/Steel Partnership www.naamsstandards.org




GLOBAL STANDARD CCIMPONENTS
BUSHING TOE A
CLAMP ™
(G72 AND G73 SERIES) Stamping 04/10/15
A — -
BUSHING
CENTER 0 | |
x 1]
—- -— B
| ] ¢
| (1 ! \
‘ M —
n :
0.4R
NAAMS CODE NAAMS CODE
G720000 G730000
A =246 A=279
B =18.9 B =23.5
Cc=13 C=155
D=M8x 1.25x 20 D=M10x 1.5x 20
NOM NOM
POST DIA M N POST DIA M N
25 29 40.1 25 30.5 43.4
32 34 45.1 32 35.5 48.4
40 40.5 51.6 40 42 54.9
50 44.5 55.6 50 46 58.9
63 54 65.1 63 55.5 68.4
80 65 76.1 80 66.5 79.4
100 79 90.1 100 80.5 93.4
115 86.5 97.6 115 88 100.9
125 100.5 113.4
NOTES & SPECIFICATIONS:
Each clamp must withstand 10,000 newtons pull
©1997 Auto/Steel Partnership www.naamsstandards.org This document is Uncontrolled when printed. G-19



GLOBAL STANDARD COMPONENTS

-NAAMS

BUSHING CLAMPING
PROCEDURES

EQUALLY SPACED

B.C.

“A” = M8 x 1.25 (USE 1 CLAMP PER BUSHING)

“A” = M10 x 1.25 (USE 2 CLAMPS PER BUSHING)

(G72 and G73 SERIES) Fm— —
D3 (0.D. OF D1 (1.D. OF BUSHING)
BUSHING SHOULDER) ’{
/'/ e
, / .,
;L ‘
[l NN
[l 7 v\
] | e
Vo : + i
NN I |
\ N S
\ \~ \\_ __/, S /
NN —1 aw .
. . /¢ /
N
N < -
— )
;”A”TAP (2) HOLES

D1 D3 B.C. D1 D3 B.C.
(D3+18) (D3+21)
32 50 68 32 50 71
40 63 81 40 63 84
50 71 89 50 71 92
63 90 108 63 90 111
80 112 130 80 112 133
100 140 158 100 140 161
115 155 173 115 155 176
125 180 201

NOTES & SPECIFICATIONS:
Order bushing clamps separately.

Screws must engage 16 mm minimum deep into die shoe for M8 screws and 20mm minimum for
M10 screws.

Each clamp must withstand 10,000 newtons pull.
Bushing clamp styles vary per OEM user.

©2017 USCAR

www.naamsstandards.org This document is Uncontrolled when printed. G-20




GLOBAL STANDARD COMPONENTS

FINGER GAGE NAAMS
(G81 SERIES) Stamping 05/19/00
13.5 — 1.5
[ i p— j —
} | I
30 — {h_% B o
N
- 26 | — SLOTIN
CASTING
—= 26
13 —=— h BLENDED R 5 W ‘
[
- 20°
|
. R20 \
\ |
/AN ==
\/‘\/
|
R10 \ \
| | \>/ | | 1
T 1 ‘ 5 ]
o AR
\ \ \
— w S S i B
e | \
-~ 107 —— - —= @30 |=— '
NAAMS
CODE H
) G813006 65
NOJE@ ri8; lS:tEegIIFICATIONS. G813009 %
: G813012 120
G813015 150
G813018 180
G813025 250
©1997 Auto/Steel Partnership www.naamsstandards.org This document is Uncontrolled when printed. G-21




BALANCING CONES

(G91 SERIES)

GLOBAL STANDARD COMPONENTS

-NAAMS

Stamping

05/19/00

ASSEMBLY INCLUDES
5.5 THICK SHIM PLATE

LOWER ‘ ! UPPER
CONE CONE
x
/_‘ ™~ P /—‘ ™~
M12x1.75 — 1=
| /oo T TN
\ W / //// | \\\\ \ W
/ / AN
3 _c — . C . c
(REF) \ I (REF)
\ \\ /!
‘ / \ NN //// /
‘ / NNy
@11 = _‘L - @11 ~f -
0.4 A I
| Dl@0.4 O[A | | BB0A |
\ [P[@0.020[AD)] 216"
VARN
+ I I
/ T 15 \ \ ?
* ‘ E G 4 /N J
L 190°+5' K
" // TV 1 E |
W7 s e
[P|@0.020 [AD == 90°+5'
-~ ] e
B ~~—B8B
A L. .. e e — A B —
CODING ON FOLLOWING PAGE
NOTES & SPECIFICATIONS:
Material: steel, case harden to Rc 60-64
©1997 Auto/Steel Partnership www.naamsstandards.org This document is Uncontrolled when printed. G-22




BALANCING CONES GLOBAL STANDARD COMPONENTS
(G91 SERIES) ™ NAAM S
Stamping 05/19/00
ASSEMBLY INCLUDES
/5.5 THICK SHIM PLATE
Qiizzza— il
UPPER —= | \
LOWER—=|" || ]
CONE
{ {
A L —
A CONE B C E F G H J K L CONTACT
SURFACE
100 | LOWER| 76 58 - 55 64 35 -- -- 80 1555 mm?
UPPER 40 -- -- -- 40 |64.28
120 | LOWER| 96 78 - 65 74 45 -- -- 90 3377 mm?
UPPER 50 -- -- -- 50 |76.36
NAAMS
CODE* A L
G911008 100 80
G911209 120 90
* Assembly consisting of 1 shim plate,
1 upper cone and, 1 lower cone
©1997 Auto/Steel Partnership www.naamsstandards.org This document is Uncontrolled when printed. G-23




GLOBAL STANDARD COMPONENTS

w AN
DISAPPEARING GAGE NAAMS &7
™ ANN dnaars.c4
(G82 SERIES) Stamping 10/19/01
25
I I .
351,L ”””””””””” \
‘ EE |
| 4 @
S N !
A721214 COUPLING
PLATE NUT
- 130 — FOR M8 SOC.
EgRsl\ég{ ?5 svoc. HD. SCREW
15 —=— ———100 -— (4) -HOLES (2) HOLE? -
( 1 i ——
ot nEE
165 I I R 135 S R &
T\ 7/,/( ‘ R
T ””” T ; 3 15]
Lo o C :
@ | | '@W e
' B S
| | 15JA
R
| |
| | UP TO 100 y
T o STROKE
‘ ' —— ¢20
=
\ AIR CYLINDER
FRONT FLANGE MOUNT
40mm BORE NOT
INCLUDED IN ASSEMBLY
NAAMS CODE SLIDE TRAVEL A B C
G820100 UP TO 100 40 115 | 275
G820160 125 AND 160 90 165 | 335
G820200 200 140 | 215 | 375
G820250 250 190 | 265 | 425

©1997 Auto/Steel Partnership

www.naamsstandards.org

This document is Uncontrolled when printed.




GLOBAL STANDARD COMPONENT

175 mm WIDE U & V
BLOCKS

(G34 SERIES) Stamping 04/14/15

FEMALE “U” BLOCK

STAMP

S M wgr O 25 50 B C L ‘
0 A

(] T,

+0.013 |

b

FORM16 SOC. HD.  (2) HOLES

87.5

10R

SCR. (2) HOLES 3 X 45° — -
175+O.026,f'28i //1.025 |A
CORNERS
| _
I N
if i
|
|
N
110i0.05

|

"U" & "V" BLOCK ASSEMBLY

FEMALE “U” BLOCK

NAAMS L B Cc
CODE

G341715 | 150 | 100 | 125
G341720 | 200 | 150 | 175

NOTES & SPECIFICATIONS:
Material, steel

Surface harden cross-hatched areas.

Tolerance between screw holes +0.12
Tolerance between dowel holes +0.10

8 All over except where otherwise stated.
Break all sharp corners.

©1997 Auto/Steel Partnership www.naamsstandards.org This document is Uncontrolled when printed. G-25



GLOBAL STANDARD COMPONENTS

175 mm WIDE U & V P
"BLOCKS .NAAMS **

(G35 & G36 SERIES) Stamping 04/14/15

MALE “V” BLOCK

STAVP 0 25 50 B C L gpapyre 67 150
‘ ‘ ‘ ‘ ‘ PLUGS THESE ‘
0 SURFACES ON
77777 ———- - ——-7--79--> MALE DRIVE
ONLY
[oo)
o
87.5" "% @@ 120° N
| |
@16 G6 \\
FOR M16 SOC. HD. (2) HOLES
SCR. (2) HOLES 75 C.BORE/' o/ 7
20 DEEP L
R ——— A @ //10.025/A]
90° ALL L ‘
CORNERS 5 x 450 | =—3 x 45°

"U" & "V" BLOCK ASSEMBLY

MALE “V” BLOCK
NAAMS [ NAAMS | L B C

CODE(X) | CODE(Y)
G351715 |G361715| 150 | 100 | 125

(G351720|G361720| 200 | 150 | 175

NOTES & SPECIFICATIONS:
Material, steel or bronze

Use code X for steel
Use code Y for bronze
Surface harden cross-hatched areas on steel.

Tolerance between screw holes £0.12
Tolerance between dowel holes +0.10

8 All over except where otherwise stated.
Break all sharp corners

Male “V” driver requires evenly distributed graphite plugs to cover 20-30% of the surface that
requires lubrication

©1997 Auto/Steel Partnership www.naamsstandards.org This document is Uncontrolled when printed. G-26



GLOBAL STANDARD COMPONENTS

/[,'Eu 3N

Blank Page
™ ANNL Illll/

Stamping 12/19/12

Data Removed.
Pages Left Blank For Future Use.

©1997 Auto/Steel Partnership www.naamsstandards.org This document is Uncontrolled when printed. G-27




GLOBAL STANDARD COMPONENTS

/[,'Eu 3N

Blank Page
™ NN Illll/

Stamping 12/19/12

Data Removed.
Pages Left Blank For Future Use.

©1997 Auto/Steel Partnership www.naamsstandards.org This document is Uncontrolled when printed. G-28




GLOBAL STANDARD COMPONENTS

/[,'Eu 3N

Blank Page
™ NN Illll/

Stamping 12/19/12

Data Removed.
Pages Left Blank For Future Use.

©1997 Auto/Steel Partnership www.naamsstandards.org This document is Uncontrolled when printed. G-29




Blank Page MNAAMS \\

Stamping 12/19/12

Data Removed.
Pages Left Blank For Future Use.

©1997 Auto/Steel Partnership www.naamsstandards.org This document is Uncontrolled when printed. G-30




GLOBAL STANDARD COMPONENTS

/[,'Eu 3N

Blank Page
™ ANNL Illll/

Stamping 12/19/12

Data Removed.
Pages Left Blank For Future Use.

©1997 Auto/Steel Partnership www.naamsstandards.org This document is Uncontrolled when printed. G-31




GLOBAL STANDARD COMPONENTS

a s N

Blank Page
™ NN Illll/

Stamping 12/19/12

Data Removed.
Pages Left Blank For Future Use.

©1997 Auto/Steel Partnership www.naamsstandards.org This document is Uncontrolled when printed. G-32




GLOBAL STANDARD COMPONENTS

/[,'Eu AN

Blank Page
™ ANNL Illll/

Stamping 12/19/12

Data Removed.
Pages Left Blank For Future Use.

©1997 Auto/Steel Partnership www.naamsstandards.org This document is Uncontrolled when printed. G-33




GLOBAL STANDARD COMPONENTS

Va i, N

Blank Page SuuL N AN
™ LA

Stamping 01/29/13

Data Removed.
Pages Left Blank For Future Use.

©1997 Auto/Steel Partnership www.naamsstandards.org This document is Uncontrolled when printed. G-34




GLOBAL STANDARD COMPONENTS

Va i, N

Blank Page SuuL N AN
™ LA

Stamping 01/29/13

Data Removed.
Pages Left Blank For Future Use.

©1997 Auto/Steel Partnership www.naamsstandards.org This document is Uncontrolled when printed. G-35




BLANK CROWDER

(G56 SERIES)

GLOBAL STANDARD COMPDNENTS

.NAAMS ¥

\\v‘-—-.'

S tamping 08/01/11
A -—
r<—5o — = =—— B — 254001 r=—
N )_@{ ; _{}} ¢» G 1/8" PORTS
| \ - /Z-PLACES
1 ) ) |
m ]
E s
>3 30 - 15 Tt— - - 64
102 +0.01 L 1 ¢=/§=, L
- _ |
t«—30$1 1 i
- 7.2
@10 H7 DOWELS
2-PLACES
—™115°
/‘\ @11 THROUGH
S 4-PLACES
T /)
I, \
I |
/ L_ T
L . |
| 4 | |
. . . [
X T S 7
| | 1K : : 1N I T :I
[ 45 e , ! l
N ooy | |
I I Il i i Il I | I:I |
L I N ]
| | | ! : ?
6+>=1—15
(STROKE) S
CODING ON FOLLOWING PAGE
NOTES & SPECIFICATIONS:
Air cylinder may be rotated 90° CW or CCW for horizontal ports.
G-36

©1997 Auto/Steel Partnership

This document is Uncontrolled when printed.



BLANK CROWDER

GLOBAL STANDARD COMPONENTS

.NAAMS 5

Sk el

(G56 SERIES) -
Stamping 08/01/11
NAAMS Code | A | B | H | STROKE
G5615075 163 55 75 15
G5615100 163 55 | 100 15
G5615125 163 55 | 125 15
G5615150 163 55 | 150 15
G5615175 163 55 | 175 15
G5615200 163 55 | 200 15
G5630075 178 60 75 30
G5630100 178 60 | 100 30
G5630125 178 60 | 125 30
G5630150 178 60 | 150 30
G5630175 178 60 | 175 30
G5630200 178 60 | 200 30
G5650075 198 80 75 50
G5650100 198 80 | 100 50
G5650125 198 80 | 125 50
G5650150 198 80 | 150 50
G5650175 198 80 | 175 50
G5650200 198 80 | 200 50
G-37

©1997 Auto/S teel Partnership

This document is Uncontrolled when printed.



BLANK PAGE .NAAMS &%

Stamping 08/01/11

Data Removed.
Pages Left Blank For Future Use.

©1997 Auto/Steel Partnership www.naamsstandards.org This document is Uncontrolled when printed. G-38




BLANK PAGE .NAAMS 5%

Stamping 08/01/11

Data Removed.
Pages Left Blank For Future Use.

©1997 Auto/Steel Partnership www.naamsstandards.org This document is Uncontrolled when printed. G-39




TRIM TAB PILOT GAGE NAAMS

GLOBAL STANDARD COMPONENTS

[\ J
N\ ANNEIRs2
(G95 SERIES) il
Stamping 08/01/11
DETAIL DESCRIPTION
1 BILOT PIN GAGE —
2 TRIM BLADE NAAMS H TRIM
3 GAGE BLOCK CODE PIN PIN BLADE
HEIGHT | DIAMETER | STEEL
4 PILOT GAGE BASE G95150A | 136 12.75 YES
5 GAGE BLOCK ADJUSTMENT SCREW Gom3008 T 288 57e VES
G95150C | 136 12.75 NO
G95300D | _ 286 12.75 NO
G95150E | NOPIN | 12.75 YES
G95300F | NOPIN | —— NO
G95150G | 136 15.75 YES
G95300H | 286 15.75 YES
- ; G95150J | 136 15.75 NO
| ) G95150K | NOPIN | 1575 YES
G95300L | 286 15.75 NO
! G95150M | 136 19.75 YES
| . , G95300N | 286 19.75 YES
‘(P _GI} - G95150P 136 19.75 NO
] G95300R | 286 19.75 NO
@ @ G95150S | NOPIN | 19.75 YES

e e e L

—ﬂ —
=

4--
1=

| |
I
B r

CONTINUED ON FOLLOWING PAGES

NOTES & SPECIFICATIONS:
MATERIAL : SEE EACH DETAIL FOR MATERIAL

v

g

©1997 Auto/Steel Partnership www.naamsstandards.org

This document is Uncontrolled when printed. G-40



TRIM TAB PILOT GAGE _ NAAMS {

GLOBAL STANDARD CDMPONENTS

W
NN Ry

(G95 SERIES)
Stamping 08/01/11
300 -—-—
A
H I
- - A
| +o
- - @ 20 -0.02

NAAMS CODE gA H 42 |
G9513136 12.75 136
G9513286 12.75 286
G9516136 15.75 136
G9516286 15.75 286 # |
G9520136 19.75 136 Y 3 | |
G9520286 19.75 286 f

L 323 J
@ PILOT PIN GAGE
NOTES & SPECIFICATIONS:
MATERIAL : ISO 4957 - 50CrMoV15-1
HARDEN Rc 56-58 DOUBLE TEMPER
©1997 Auto/Steel Partnership www.naamsstandards.org This document is Uncontrolled when printed. G-41




GLOBAL STANDARD CDMPONENTS

TRIM TAB PILOT GAGE _ NAAMS &

(G95 SERIES)
Stamping 08/01/11
—» 15 ’4 60 >
NAAMS Dim. . .
‘ ‘ Code A Pilot Required
9513136
30 G9513 13.0 9513286
9516136
G9516 16.0 9516286
75 9520136
G9520 20.0 9520286
20
+ /‘\
1 /]
16
* ~z = A +0.05 FOR M12 SOCKET HEAD SCREW
t—— 30 — 2 PLACES
DRILL AND REAM
FOR @12 DOWEL
2 PLACES
MACHINE AT

4—‘ @20 ’<7 / ASSEMBLY

57

H
ins

@ TRIM BLADE
NOTES & SPECIFICATIONS:

MATERIAL : ISO 4957 - 50CrMoV15-1 LEFT SOFT FINISH ASSEMBLY

©1997 Auto/Steel Partnership www.naamsstandards.org This document is Uncontrolled when printed. G-42




GLOBAL STANDARD COMPONENTS

TRIM TAB PILOT GAGE _ NAAMS é

(G95 SERIES) >
Stamping 08/01/11
I I P A
/ I \ 8x45° *
19.00
: : * 18.95
I I T A B
41
|
____________ T 55
TN 14
71N |
[ + ] Y
\ T
\ /
N\ // 14
1 | |
- 20 —
+0
- 40 -0.04 5
40 +0.02

ft———— @200

| 9~ | !

|{/ + \|| * 4 =4 1 _ 1 24
|| | s l
A pat | v '

@ GAGE BLOCK

NOTES & SPECIFICATIONS:
MATERIAL : ISO 683/18 - C20

©1997 Auto/Steel Partnership www.naamsstandards.org This document is Uncontrolled when printed. G-43




112]“H.T¥\E3IDIL£)1-(Bl\(;EEﬂwr\lla\la\I\IIEE;T

GLOBAL STANDARD COMPONENTS

(G95 SERIES)
Stamping 08/01/11
DRILL AND REAM DRILL AND REAM
FOR @ 12 DOWEL FOR @ 6 DOWEL
2 PLACES
M12x1 TAP DRILL AND REAM FOR M12
35 DEEP FOR @ 12 DOWEL SOCKET HEAD SCREW
2 PLACES 2 PLACES 4 PLACES
|
1T T
[ Il
+ Il I +
| A
T 11 T
i / /
T anN
+ +
67
\ / \ 100
| + 62
= ‘ + 4 44
+ G {\\ + 3 32
+ Wi 7
4 : L 1Y 1Y
d 13 b A
—t 20 |- *
30 —t——] -t 40 —t t——=—30
rt— 30 —porg— 30 —
t—— 60 —— piet———— 60 —— =
l———— 75 — g
g 150 L
30°
| 1
! L
‘ I ‘ | @20
| lli; | ;Ll 75
| 2R | * _______
7 l AR ¥ T 60 B R
o 15
| ‘ | ‘ L7/ ‘ | |
o] r. L+ 7~
+ . ! ml ! P * 14
L 11 ] L ] Ll
I | I |
4" L7 f M20x2.5 TAP
2135 THROUGH

@ PILOT GAGE BASE

NOTES & SPECIFICATIONS:
MATERIAL : ISO 683/18 - C20

©1997 Auto/Steel Partnership www.naamsstandards.org

This document is Uncontrolled when printed.

G-44




GLOBAL STANDARD CDMPONENTS

TRIM TAB PILOT GAGE
(G95 SERIES) ™ NAAM S

Stamping 08/01/11

L ] g
NN Ry

1.5 CHAMFER e

M20 x 2.5 JAM NUT
(2 PLACES) %

M20 x 2.5 THREAD

+0.2 T
1250 o -

+0.05
= 19.00 5

A
\

A

HEX SOCKET
95 10 x 10 DEEP

Y

@ GAGE BLOCK ADJUSTMENT SCREW

NOTES & SPECIFICATIONS:

MATERIAL : A. ISO 683/18 - C18 - B7 THREADED ROD -OR- ISO 848-1 (min)
B. ISO 683/18 - C20

©1997 Auto/Steel Partnership www.naamsstandards.org This document is Uncontrolled when printed. G-45



GLOBAL STANDARD COMPONENTS

200MM ADJUSTABLE BLANK
GAGE WITH BAR SENSOR
G96 SERIES Stamping 12/19/12

®or@\é§§\
o

LE
I
NAAMS CODE AND
S MFG. IDENTIFICATION
SENSING HERE
RANGE
e /@
- |
120 ' | — @
= COMMERCIAL —— ~_
| [:L- ELECTRICAL 0
EXTENSION Q @
o | CABLE
:
|l ﬁ 0
\ | OI s § 0
\
? — —S
] 8
70 AT MAX HEIGHT
20 AT MIN HEIGHT
L] i

NAAMS Code - G960001 - 24VDC Sensor

NAAWS CODE NAAMS Code - G960002 - 120VAC Sensor
G960001 | G960002
ITEM I.D. QUANTITY DESCRIPTION OF ADJUSTABLE BLANK GAGE WITH BAR SENSOR KIT
A 1 - BAR SENSOR - 24VDC TURCK #BI20-CK40130-VP4X2-H1141/S1009 OR EQUIVALENT
B 8 8 M6 FLATWASHER
C 2 2 M6 x 0.8 LOCKNUT WITH NYLON INSERT
D 4 4 M6 x 0.8 x 12 BUTTON HEAD CAP SCREW (BLUE)
E 1 1 GENERIC M6 NYLON TUBING CLIP
F 1 1 M6 x 0.8 x 8 LONG SOCKET HEAD CAP SCREW
G 1 1 GAGE RISER BRACKET
H 1 1 SENSOR MOUNT BRACKET
J - 1 BAR SENSOR - 120VAC TURCK #BI120-CK40130-ADZ30X2-B1131/S1009 OR EQUIVALENT

NOTES & SPECIFICATIONS:
Adjustable 200mm blank gage with 130mm bar sensor.
Mark with NAAMS code in 6mm high letters as shown, and manufacturers identification.
Install with M10 x 30 long socket head cap screws, M10 flat washers and lock washer. (Not suppiled.)
Tack weld washers to base after final adjustment.
For flat binders, Bottom of sensor must be 5mm below edge of nested blank.

©1997 Auto/Steel Partnership This document is Uncontrolled when printed. G-46



200MM ADJUSTABLE BLANK
GAGE WITH BAR SENSOR

G96 SERIES

GLOBAL STANDARD COMPONENTS

.NAAMS &%

Stamping 12/19/12
R5.5 TYP. M6 x 1.0 TAP THRU DETAIL G
B / / | GAGE RISER BRACKET

— T

10 \

——— 50 —— =

222

30

200

\6x25x44

CRS PLATE
INSET 2mm

M6 x 1.0 TAP
/ (8) PLACES

BOTH SIDES

NOTES & SPECIFICATIONS:
MATERIAL: ISO 683/18 - C20 (BLACK OXIDE FINISH)

? — 35 — <—L<—10
J 25 -

HARDEN BRACES

TO RC45-50/.01 5DP§\\

PRIOR TO WELDING

|——— 44 ——

G960001 or G960002

©1997 Auto/Steel Partnership

This document is Uncontrolled when printed.

G-47




200MM ADJUSTABLE BLANK
GAGE WITH BAR SENSOR

GLOBAL STANDARD COMPONENTS

.NAAMS &%

NOTES & SPECIFICATIONS:
Material: ISO 683/18 - C20 (Black Oxide Finish)

G96 SERIES Stamping 12/19/12
DETAILH
SENSOR MOUNT BRACKET
G960001 or G960002
{ lfB _
— 4 | [
-
— 21 —_— 33— <—60+8:(1)8 |t——— 3
10 o {
? ‘ 10 Jr
R3.25 \ ~ * 60 ~ —20
TYP N \
S =
# i 10 M ! Jr
10 N } \’&\ 10
? L~30.2 —— ?
8.8 — = —— ®6.5

©1997 Auto/Steel Partnership

This document is Uncontrolled when printed.

G-48




65 mm WIDE V
BLOCK

(G97 SERIES)

GLOBAL STANDARD COMPONENTS

~NAAMS 5

Stamping

04/23/14

MALE “V” BLOCK

@12 H7
(2) HOLES

STAMP
DATUM "0"+. 0

—GRAPHITE PLUGS
THESE SURFACES
ON MALE DRIVE ONLY

39| 13

0
|

;,\
1200 <
!

// 1.025 | A

FOR M12 SOC. HD.
SCR. (N) HOLES

o

ALL CORNERS

|| =—3x45°

‘ +0.05

65

|

MALE “V” BLOCK
NAAMS| L | A| B| C | N
CODE :g'; +02 | 02 | 02
G976515|150| — | 100]|125| 2
G976520|200| — |150|175| 2
(G976525| 250 | 125] 200 225| 3
(G976530] 300| 150] 250]| 275]| 3

NOTES & SPECIFICATIONS:
Material, ISO-CuZn25Al5

Tolerance between screw holes +0.12
Tolerance between dowel holes +0.10

L& All over except where otherwise stated.
Break all sharp corners

TYPICAL SECTION
"U" & "V" BLOCK ASSEMBLY

Male “V” driver requires evenly distributed graphite plugs
to cover 20-30% of the surface that requires lubrication

©2017 USCAR www.naamsstandards.org

This document is Uncontrolled when printed.




65 mmWIDE U
BLOCK

(G98 SERIES)

GLOBAL STANDARD COMPONENTS

~NAAMS 5

Stamping

STAMP

0

DATUM "0" M

FEMALE “U” BLOCK

@12 H7
C'BORE (2) HOLES

25 55 +0.02

5x45°

90°

ALL
CORNERS |/1.025 |A

FOR M12 SOC. HD.
SCR. (N) HOLES

FEMALE “U” BLOCK
NAAMS| L | A| B| C | N

CODE | 01 |02 | 202 | 202
G987515|150| — |100|125| 2
G987520|200| — |150|175| 2
(G987525|250|125|200| 225| 3
G987530]300]150|250| 275| 3

NOTES & SPECIFICATIONS:
Material, ISO 683/1 42CrMo4

Surface harden cross-hatched areas.

Tolerance between screw holes +0.12
Tolerance between dowel holes +0.10

L9 All over except where otherwise stated.
Break all sharp corners.

3x45°»‘F .
2

Eyi8

TYPICAL SECTION
"U" & "V" BLOCK ASSEMBLY

©2017 USCAR

www.naamsstandards.org This document is Uncontrolled when printed. G-50




125 mm WlDE V GLOBAL STANDARD COMPONENTS

BLOCK NAAMS

(G99 SERIES)

Stamping 04/23/14

MALE “V” BLOCK

STAMP 0 25 55

DATUM "0" GRAPHITE

‘ PLUGS THESE
SURFACES ON

A B C
0~V ~~—F—+——F—— =~~~ MALE DRIVE
ONLY
+0.013 j
62.5 — 120°
| N

FOR M16 SOC. HD. A /
5

(2) HOLES
20 DEEP L
006\ - - _____________ ] __ /10.025/A

125 90° ALL E ‘
CORNERS | 5, 450 =3 x 45°

Bl

MALE “V” BLOCK "U" & "V" BLOCK ASSEMBLY

NAAMS | L |A | B | C | N

CODE g; +02 | +02 | 02

G1001215 {150 | — [100|125
G1001220 {200 | — [150|175
G1001225 |250 [ 125 | 200 | 225
G1001230 {300 {150 [ 250 | 275

0%

W (W IN N

NOTES & SPECIFICATIONS:
Material, ISO-CuZn25AI5

Tolerance between screw holes +0.12
Tolerance between dowel holes +0.10

18 All over except where otherwise stated.
Break all sharp corners

Male “V” driver requires evenly distributed graphite plugs to cover 20-30% of the surface that
requires lubrication

©2017 USCAR www.naamsstandards.org This document is Uncontrolled when printed. G-51




125 mm WIDE U

GLOBAL STANDARD C‘.DMPDNENTS

-NAAMS

B L o C K \‘\'\i\ﬂ!Il,":l/
(G100 SERIES) Stamping 04/23/14
FEMALE “U” BLOCK
STAMP +0.02 0 15 27 80 QQ?A
DATUM "0" 0 25 55 A B C ‘ ‘ ‘ ‘
oA '

+0.013 |

62.5°

10R

16 H7
FOR M16 SOC. HD. (2) HOLES
SCR. (N) HOLES f' 3 x45° —»
************************ 90° 025 A
12510.026 r ALL W!—ﬁ
CORNERS

FEMALE “U” BLOCK
NAAMS | L | A C
CODE | %! | 402 £0.2

03

G991215| 150 125
G991220] 200 175
G991225 225

250
G991230] 300 275

125
150

W W ININ

NOTES & SPECIFICATIONS:
Material, ISO 683/1 42CrMo4

Surface harden cross-hatched areas.

Tolerance between screw holes +0.12
Tolerance between dowel holes +0.10

8 All over except where otherwise stated.
Break all sharp corners.

"U" & "V" BLOCK ASSEMBLY

©2017 USCAR www.naamsstandards.org

This document is Uncontrolled when printed. G-52




GUIDE PIN BUSHING
TOE CLAMPS

(G101 & G102 SERIES)

GLOBAL STANDARD COMPONENTS

.NAAMS"

Stamping 06/13/17
oF N / oE
T T
| |
|
| |
|
, | K
A\
| |
|
| |
|e—— C —— |
6.0-0.3 — | 4
¥ HE
! + G
|
R | iva ¢
0.5+0.5 J‘ = J =]
lt—— D ——— ]
NAAMS | BysHING | ¢ b E F G H J K CLAMPS
CODE 1.D. h9 +0.2 | +0.2 | +0.2 | +0.2 | +0.3 | +0.3 | REQUIRED
25
G1012520 % 25 | 15 15 9 12 8.5 5 20 1
50
63
G1023225 18000 32 | 21 18 | 15 | 16 11.5 10 25 2
125
NOTES & SPECIFICATIONS:
Material: steel.
Break all sharp edges.
Mark with NAAMS Code and manufacturers identification.
Each clamp must withstand 10,000 newtons pull.
©1997 Auto/Steel Partnership This document is Uncontrolled when printed. G-53



BALANCING CONES . NAAMS &7

(G103 SERIES)

Stamping 04/14/15
UPPER — w
CONE
LOWER — "}/ |
CONE | !
LOWER HES y*“ UPPER
CONE ASSEMBLY INCLUDES CONE

‘ 5.5 THICK SHIM PLATE

M12x1.75

I
- m () ————

+0.05
"*@58.97_0.0()* ’@‘@OOZ@‘A@} - - ®16H7
M12 |t + ‘ ‘
‘ X \ T
15 \ \ t
A Il PN Il J

90°+5’ ‘
. | |®

<7B

n
N -—————————— A —————————————

f—— C ——— =

B — =

. A —————

CODING ON FOLLOWING PAGE

NOTES & SPECIFICATIONS:
Material: steel, case harden to Rc 60-64

©1997 Auto/Steel Partnership www.naamsstandards.org This document is Uncontrolled when printed. G -54



BALANCING CONE
SHIM & CODING

GLOBAL STANDARD COMPDNENTS

(G103 SERIES) Stamping 04/14/15
N i
UPPER ! H
CONE LD D
L
[ 1] [ L]
LOWER —™ | |
CONE NI N \ AN
A——————
ASSEMBLY INCLUDES 5.5 THICK SHIM PLATE
(ORDERED AS 6.0 THICK)
A CONE B C E F G H J K L CONTACT
SURFACE
LOWER -- 55 4 35 -- --
100 76 58 6 80 1555 mm?
UPPER 40 -- -- -- 40 |64.28
120 [LOWER| gg | 7g | = | 65 | 74 |45 | - | - | g9 | 3377 mm?
UPPER 50 -- -- -- 50 |76.36
I \ NAAMS CODE* A L
~C G1031008 100 80
\ G1031209 120 90
30° * Assembly consisting of
1 shim plate,
1 upper cone and,
ds 1 lower cone
| di1 d2 d3
| | | ; 105 76 58
UT ] 7 [ 7] s.0 125 | 96 | 78
| | I
211 218
SECTION C-C
NOTES & SPECIFICATIONS:
Solid model library part is 5.5 mm thick. Actual component to be purchased at 6.0 mm thickness.
(For sizing at tryout.)
©1997 Auto/Steel Partnership www.naamsstandards.org This document is Uncontrolled when printed. G-55




QSO HD GUIDE KEEPER GLOBAL STANDARD COMPONENT
e |
™ N AA M S
(G104 Series) Stamping 06/10/17
— et—— 10 MIN.
URETHANE
DAMPENER
* NAAMS CODE | PINLENGTH | PAD TRAVEL
G9850160 160 25
A PAD GUIDE PIN G9850170 170 35
5 MIN. G9850180 180 45
TRAVEL { G9850190 190 55
| G9850200 200 65
[ G9850210 210 75
§ (G9850220 220 85
G9850230 230 95
G9850240 240 105
BUSHING | G9850250 250 115
BEARING
oy D' SHOE N[ ASSEMBLY@
|
LENGTH T M12 x 1.75
Hl 40 LONG
: : MINIMUM
f |
L1
10 MINIMUM
1 /] 20 PREFERRED
| 1] | | ‘,—{
I dll ' Vi ul
I
I
Y [ ]
' P PRESSURE PAD
Iyl
I
|||
L] COLLAR@
Lo
DET. [ QUAN. DESCRIPTION
A 1 GUIDE PIN
B 1 |URETHANE DAMPENER
: C 1 COLLAR
M16 x 2.0 - 70 LONG I D 1 BUSHING
E 1 BEARING ASSEMBLY
NOTES & SPECIFICATIONS:
MATERIAL: STEEL - MANUFACTURERS CHOICE
» Break all edges.
» Mark with NAAMS order code and manufacturer’s logo.
» Refer to manufactures catalog for design information.
 For use in upper and lower pads.
© 2017 USCAR www.naamsstandards.org This document is uncontrolled when printed. G-56



GLOBAL STANDARD COMPONENT

@50 HD GUIDE KEEPER NAAMS :

M\ T 7y

NN 2

(G104 Series) Stamping

06/10/17

et 2105 o

@50 REF.

CLEARANCE HOLE FOR
M12 SHCS (8) PLACES
EQUALLY SPACED ON A
86.0 BOLT CIRCLE

1| 12.70

-

|
~—— 707 —

DETAIL D - BUSHING

MATERIAL: STEEL (MANUFACTURERS CHOICE)
+ 8-M12 x 1.75 x 40 long grade 12.9 socket head cap screws required for assembly (not supplied).

© 2017 USCAR www.naamsstandards.org This document is uncontrolled when printed.

G-57



(G104 Series)

@50 HD GUIDE KEEPER

GLOBAL STANDARD COMPONENT

.NAAMS

M\ T 7y

NN 2

Stamping 06/10/17

|

20

a1

M16-2.0 TAP x 40 DEEP
(3) HOLES EQUALLY SPACED
ON A 30.48 BOLT CIRCLE

COLLAR
2507 —

y—n—m——m—n—
RETENTION [N S

* PIN LENGTHS
160.0

170.0

30.0

assembly (not supplied).

MATERIAL: STEEL (MANUFACTURERS CHOICE)
» For a 75mm thick steel pad, 3 - M16 x 2.0 x 70 long grade 12.9 socket head cap screws required for

—— 269.5 —=

DETAIL A - GUIDE PIN

© 2017 USCAR www.naamsstandards.org

This document is uncontrolled when printed.

G-58



GLOBAL STANDARD COMPONENT

@50 HD GUIDE KEEPER NAAMS :

M\ T 7y

NN v el

(G104 Series) Stamping 06/10/17

DRILLED AND COUNTERBORED
FOR M16 SHCS - (3) PLACES
EQUALLY SPACED ON A

230.48 BOLT CIRCLE

15.24 REF

=t @57.2 -

“0” RING .

i i

|

| | I 29
A
T

DETAIL C - COLLAR

MATERIAL: STEEL (MANUFACTURERS CHOICE)

© 2017 USCAR www.naamsstandards.org This document is uncontrolled when printed. G-59



GLOBAL STANDARD COMPONENT

@50 HD GUIDE KEEPER NAAMS ;

M\ T 7y

BN N 2

(G104 Series) Stamping 06/10/17

@18 DRILL THROUGH
(3) EQUALLY SPACED
ON A @30.48 BOLT CIRCLE

©50.100
! 250.045 BORE
B 4_
[ A
I I *
| | | |
. (. 36 I\;I‘ISN
| | | | | MIN
l\ | | \\ & 15.24
| :u | : * o] 0.25
+0.00
t— 45 207550
| ~—s T
-« 370.0H8 — A A
INSTALL
GUIDE PIN
E[025] i HERE
|
! ' ‘ +1.0
75 REF | 25700 80 REF
, ! * ' FOR
| CAST
| PADS
! INSTALL
COLLAR
Y HERE
|
40 MINIMUM ——t———————
FOR CAST PADS

958 £0.05 BORE

®—43 REF —B»t
M12 x 1.75 TAP 36 DEEP

(8) PLACES EQUALLY SPACED

ON A 86.0 BOLT CIRCLE

(45 DEEP TAP DRILL HOLE - DRILL
THROUGH PERMITTED)

DIE SHOE MACHINING FOR PAD MACHINING FOR
DETAIL B DETAILS A AND C

NOTES & SPECIFICATIONS:

* Installation information
« Serrated safety washers are recommended.

© 2017 USCAR www.naamsstandards.org This document is uncontrolled when printed. G-60



GLOBAL STANDARD COMPONENTS
bt

@36 HD GUIDE KEEPER NAAMS

(G105 Series)

Stamping 06/24/17
DET.|QUAN. DESCRIPTION
A 1 GUIDE PIN
B 1__|URETHANE DAMPENER
C 1 COLLAR
— ! |«a— 10 MIN. D 1 BUSHING
E 1 BEARING ASSEMBLY
URETHANE
DAMPENER\
Y N
N
GUIDE PIN BEARING
PAD
TRAVEL 5 MIN. N\ A ASSEMBLY
* | T N
BUSHING
\ <
PIN DIE SHOE 1 I
LENGTH o 1
1 1
: : : : M12 x 1.75 - 30 LONG
| |
I L1
5 MINIMUM
L_, /ﬁ 15 PREFERRED
| F

*

PRESSURE PAD

\"4 |

/ COLLAR@

' i\ |

! ! NAAMS CODE | PINLENGTH | PAD TRAVEL

M12 x 2.0 - 50 LONG I G9936130 130 30
G9936140 140 40

G9936150 150 50

G9936160 160 60

G9936170 170 70

G9936180 180 80

G9936190 190 90

NOTES & SPECIFICATIONS: 59936200 200 100
G9936210 210 110

G9936220 220 120

MATERIAL: STEEL - MANUFACTURERS CHOICE

» Break all edges.

» Mark with NAAMS order code and manufacturer’s logo.

» Refer to manufactures catalog for design information.

 For use in small upper pads with engineering approval only.

» For use in lower pads when G98 series guide keepers will not fit.

© 2017 USCAR www.naamsstandards.org This document is uncontrolled when printed. G-61



GLOBAL STANDARD COMPONENTS

@36 HD GUIDE KEEPER NAAMS A :

(G105 Series) Stamping 06/24/17

15.0 E& A
!
_ 1 _ 55.0
15.0 .
CLEARANCE HOLE FOR .
M12 SHCS (4) PLACES
©36.0 REF

A
o

—— @507 ——

DETAIL A - BUSHING

MATERIAL: STEEL (MANUFACTURERS CHOICE)
* 6-M12 x 1.75 x 30 long grade 12.9 socket head cap screws required for assembly (not supplied).

© 2017 USCAR www.naamsstandards.org This document is uncontrolled when printed. G-62



GLOBAL STANDARD COMPONENT

@36 HD GUIDE KEEPER NAAMS ;

\ T ]72

NN v el

J]
L4

(G105 Series) Stamping 06/24/17

i M10-1.5 TAP x 23 DEEP
(4) HOLES EQUALLY SPACED
ON A 23.0 BOLT CIRCLE

15 C’BORE

0 [T T *
L LI nu L |
T e * 400
o PIN LENGTHS
RETENTION L AN 120.0

COLLAR === 130.0

140.0
150.0
160.0
236.0 7 —tt— | ! 1700

180.0
e 190.0
| 200.0
~——T 210.0

| |
DAMPENING WASHER—/ i
! |—22.3

—— @49.5 —>

DETAIL B - GUIDE PIN

MATERIAL: STEEL (MANUFACTURERS CHOICE)
» For a 75 mm thick steel pad, 3 - M12 x 1.75 x 50 long grade 12.9 socket head cap screws required for

assembly (not supplied).

© 2017 USCAR www.naamsstandards.org This document is uncontrolled when printed.

G-63



GLOBAL STANDARD COMPONENTS

@36 HD GUIDE KEEPER TMNAAMS ¢ "

(G105 Series)

Stamping 06/24/17
|
N 7
|
DRILLED AND COUNTERBORED !
FOR M10 SHCS - (4) PLACES 9 N
EQUALLY SPACED ON A
©23.0 BOLT CIRCLE ] 11.5 REF
|
lt————— 349.0 ——p
| ! |
| 1k |
“O” RING | o | 4
| | | | | 20.0
Lol oo I

DETAIL C - COLLAR

MATERIAL: STEEL (MANUFACTURERS CHOICE)

© 2017 USCAR www.naamsstandards.org This document is uncontrolled when printed. G-64



@36 HD GUIDE KEEPER

(G105 Series)

GLOBAL STANDARD COMPONENTS

JNAAMS

Stamping 06/24/17

IN\frilyy

236.085
211.5 DRILL THROUGH

(4) EQUALLY SPACED
ON A 923.0 BOLT CIRCLE

<@— (50.0 H8 BORE —B> A INSTALL |- 2
GUIDE PIN
=[0.25 HERE !

| !
75 REF 35*1.0 80 REF
30.5 30.5 -0.0
! ! FOR
| CAST
, , PADS
15 e 7\ INSTALL
R/ N\~ Y COLLAR
7 7 HERE

1
1
1
1
1
-
1
i >

M12 x 1.75 TAP 36 DEEP
(4) PLACES (45 DEEP TAP
DRILL HOLE MIN. DRILL
THROUGH PERMITTED)

DIE SHOE MACHINING FOR
DETAIL B

NOTES & SPECIFICATIONS:

* Installation information
» Serrated safety washers recomended.

I
40 MINIMUM ————
FOR CAST PADS

250.0 £0.05 BORE

PAD MACHINING FOR
DETAILS AAND C

© 2017 USCAR www.naamsstandards.org This document is uncontrolled when printed.

G-65



GLOBAL STANDARD COMPONENT
=

@65 HD GUIDE KEEPER NAAMS

(G106 Series) Stamping 06/25/17

— ] |<— 10 MIN
URETHANE
% DAMPENER —~
GUIDE PIN
A pap 5 M. —a
TRAVEL NAAMS PIN PAD
CODE LENGTH | TRAVEL
] G9765185 185 25
@ r G9765195 195 35
G9765205 205 45
BUSHING G9765215 215 55
o G9765225 225 65
DIE SHOE G9765235 235 75
fum) G9765245 245 85
PIN = \\m G9765255 255 95
LENGTH - I I | G9765265 265 105
— G9765275 275 115
o I
L L BEARING @
M16 x 2 | u[\ | ASSEMBLY
50 LONG | | |
\‘ L/ | 10 MINIMUM
| | { 20 PREFERRED
m | | 7

PRESSURE PAD

} COLLAR@

1

.| QUAN. DESCRIPTION
GUIDE PIN
URETHANE DAMPENER
COLLAR
BUSHING
BEARING ASSEMBLY

Ld
VA .
M16 x 2 - 70 LONG

mlo|o|e|>|@
—

EEY) EEY RN RN (Y

NOTES & SPECIFICATIONS:

MATERIAL: STEEL - MANUFACTURERS CHOICE

» Break all edges.

» Mark with NAAMS order code and manufacturer’s logo.
» Refer to manufactures catalog for design information.

« For use in upper and lower pads.

© 2017 USCAR www.naamsstandards.org This document is uncontrolled when printed. G-66



@65 HD GUIDE KEEPER

(G106 Series)

GLOBAL STANDARD COMPONENTS

NAAMSH

wEEDsL
N\ S

Stamping 06/25/17

M16-2.0 TAP x 40 DEEP
! (4) HOLES EQUALLY SPACED
ON A @40 BOLT CIRCLE

RETENTION /

COLLAR

26577

IFIF11=F=*

1l uil Il II | 40

B > 225

N 1
I | |
I i i
R — PIN LENGTHS
~ ~ ~ 185
195
205

215

' 235
245
255
265

40

NOTES & SPECIFICATIONS:

MATERIAL: STEEL (MANUFACTURER’S CHOICE)
» For a 75mm thick steel pad, 3 - M16 x 2.0 x 70 long grade 12.9 socket head cap screws required for
assembly (not supplied).

289.0 L

DETAIL A - GUIDE PIN

© 2017 USCAR

www.naamsstandards.org

This document is uncontrolled when printed. G-67



GLOBAL STANDARD COMPONENTS

@65 HD GUIDE KEEPER NAAMNMSEY™

(G106 Series) Stamping 06/25/17

DRILLED & C’'BORED FOR
M16 SHCS - (4) PLACES

EQUALLY SPACED ON A [
@40 BOLT CIRCLE — 20 =

DETAIIL C- COLLAR

NOTES & SPECIFICATIONS:

MATERIAL: STEEL (MANUFACTURER'’S CHOICE)

© 2017 USCAR www.naamsstandards.org This document is uncontrolled when printed. G-68



GLOBAL STANDARD COMPONENTS

@65 HD GUIDE KEEPER NAAMSE™

(G106 Series) Stamping 06/25/17

\\\_ @65 REF

' CLEARANCE HOLE FOR M16 SHCS (6) PLACES
~— 55.75 -] EQUALLY SPACED ON A 111.5 BOLT CIRCLE

[ | A
| | *
Ii 1 I!i 1 1 i!l Iil 35
N I | o || 12.7 v
| |I I| | *
1 1 1 1
| |
| | 130
| |
| ! |
| |
| |
; : Y
I
- @90.0 f7 —

DETAIL D - BUSHING

NOTES & SPECIFICATIONS:

MATERIAL: STEEL (MANUFACTURER’S CHOICE)
*+ 6-M16 x 2.0 x 50 long grade 12.9 socket head cap screws required for assembly (not supplied).

© 2017 USCAR www.naamsstandards.org This document is uncontrolled when printed. G-69



@65 HD GUIDE KEEPER

(G106 Series)

GLOBAL STANDARD COMPONENTS

NAAMSH

wEEDsL
N\ S

06/25/17

Stamping

[
265.100 goRE

218 DRILL THROUGH
(4) EQUALLY SPACED
ON A ©40.0 BOLT CIRCLE

T=4—55.75 REF =t
M16 x 2.0 TAP 47 DEEP

(DRILL 60 DEEP MIN. - DRILL
THROUGH PERMITTED)

ON A 111.5 BOLT CIRCLE

DIE SHOE MACHINING FOR
DETAIL B

NOTES & SPECIFICATIONS:

* Installation information
» Serrated safety washers are recommended.

_— — ©65.045
\
|
A A
| | | |
: | : | + 60
o ! FOIN 47 miN
l | L Q MIN ‘
L L Y =0.25 20REF  5casTBOSS
' - 50 —] |_2°-°1 1
~4—— (90.048 BORE — A
INSTALL ;
GUIDE PIN
=035 , HERE,
. 75 REF |
FOR HRS +1.0
. D | 25 80 REF
-0.0
PADS | | roR
| CAST
' ! PADS
INSTALL
COLLAR
Y HERE
A |
40 MINIMUM FOR CAST PADS —<t—— |
@90 +0.05 BORE

(6) PLACES EQUALLY SPACED

PAD MACHINING FOR
DETAILS A AND C

© 2017 USCAR www.naamsstandards.org

This document is uncontrolled when printed.

G-70



PANEL BLANK SUPPORT GLOBAL STANDARD COMPONENTS

ASSEMBLY JNAAMS &
(G107 SERIES) Stamping 03/19/21

240
FOR M12 SOC. HD. CAP SCR.
(2) PLACES .

L]

45 76.2

FOR @ 12 DOWELJ ‘ - —
(2) PLACES 120

—= P40 |~—

30

PERMANENTLY MARK EACH PART WITH
PART NUMBER AND MANUFACTURER’S BRAND
ORDER ALL DETAILS SEPARATELY

©2018 USCAR www.naamsstandards.org This document is Uncontrolled when printed. G-71




PANEL BLANK SUPPORT

GLOBAL STANDARD COMPONENTS

Va -
ASSEMBLY NAAMS 5%
(G107 SERIES) Stamping 03/19/21
PART
ITEM | QTY NAME NUMBER
A 1 MOUNTING BLOCK G990100
B 1 BLANK SUPPORT PIN (G990200-L -A
C 2 | GUIDE POST BUSHING G614063
D 2 |M16 THREADED BODY NITROGEN GAS SPRING| C.045.050.TB2.BU
E 1 GUIDE / KEEPER BLOCK (G990300
F 2 |PUSHER PLATE (G990400
G 1 M12 X 30 LG. SOC. HD. CAP SCREW F011212
H 1 M10 X 16 LG. SOC. HD. CAP SCREW F011009
J 2 |M10X30LG. SOC. HD. CAP SCREW F011012
K 2 | GUIDE PIN BUSHING TOE CLAMP (G1023225
ORDER ALL DETAILS SEPARATELY
©2018 USCAR www.naamsstandards.org This document is Uncontrolled when printed. G-72




GLOBAL STANDARD COMPONENTS

MOUNTING BLOCK NAAMS o it

(G107 SERIES)

Stamping 03/19/21
8.5 DRILL - 35 DEEP
M10 TAP - 25 DEEP
(3) PLACES AS SHOWN @50 H7 THRU
240 15 |-
¢ =—230 120
o | F
\\\\\P
F
76.2 45 |
|
¢
FOR @ 12 DOWEL F7
(2) PLACES %5 46
@18 DRILL - 18 DEEP 110
@14.5 DRILL THRU
M16 X 1.5 TAP THRU DRILL AND COUNTERBORE
(2) PLACES FOR M12 SOC. HD. CAP SCR.
(2) PLACES
270
‘ | ‘ 1 | R |
b R R
25 BN L | RN o
bl et R ]
— 7 ‘ I ‘ T I
53 2 L R IR R
| | u‘u ‘\M ‘ | kv‘u \T\
| \ | I I | ‘ i I Loy
[ ol \ I \ \
\‘\ R ‘ | N | ‘ |
Il ‘ Il 11 ‘ 11 Il ‘ 1l ‘ 1 11 ‘ 1
NAAMS CODE
G990100

MATERIAL: ASTM A-36
TOLERANCE BETWEEN SCREW HOLES +0.25
TOLERANCE BETWEEN DOWEL HOLES +0.01
BREAK ALL SHARP CORNERS
MARK WITH NAAMS CODE AND MANUFACTURE'’S INDENTIFICATION

©2018 USCAR www.naamsstandards.org This document is Uncontrolled when printed. G-73



GLOBAL STANDARD COMPONENTS

BLANK SUPPORT PIN NAAMS &

(G107 SERIES)

=

Stamping 03/19/21

@10.2 DRILL - 42 DEEP
M12 TAP - 30 DEEP
AS SHOWN

0.00
15 505

—= @40 f6 ~—

B

\_Q/W

L +0.05
A
|
H 1
! L 1.5 X 45° CHAMFER
NAAMS CODE
G990200-L _ -A___

“L’ LENGTHJ

“‘A” LENGTH

LENGTHS IN 1mm INCREMENTS
MATERIAL: 16 MnCr5 OR AISI 8620 CARBORIZE

AND CASE HARDEN TO 57-62 Rc, CASE DEPTH 0.8 mm MIN.
MARK TOP END WITH NAAMS CODE AND MANUFACTURE'’S IDENTIFICATION

©2018 USCAR www.naamsstandards.org This document is Uncontrolled when printed. G-74




GLOBAL STANDARD COMPONENTS

GUIDE / KEEPER BLOCK NAAMS G 0

(G107 SERIES) o ——

©11.0 DRILL THRU

(2) PLACES
XX
X X
XX
50 30 X X
X X
XX
10 7X7X7
i XX
L 15 —=i LQJ
NAAMS CODE
G990300

MATERIAL: AISI-4150 OR 6150
CROSS HATCHED AREAS TO BE SURFACE HARDENED.
CASE DEPTH 0.8 MIN. RC 56-60
TOLERANCE BETWEEN SCREW HOLES +0.12
BREAK ALL SHARP EDGES
MARK WITH NAAMS CODE AND MANUFACTURE'’S INDENTIFICATION

©2018 USCAR www.naamsstandards.org This document is Uncontrolled when printed. G-75




GLOBAL STANDARD COMPONENTS

PUSHER PLATE NAAMS e it

(G107 SERIES)

=

Stamping 03/19/21

©@13.5 DRILL - THRU

@20 C'BORE - 20 DEEP
ROSTYP. AS SHOWN
40 H7 76
38
R 20 H7
0.05
15 5.0 65
130
— !
L | 15
ij b
‘ | |
20 [
I I
v L 1 L

NAAMS CODE
G990400

MATERIAL: AlSI-4150 OR 6150
BREAK ALL SHARP EDGES
MARK WITH NAAMS CODE AND MANUFACTURE’S INDENTIFICATION

©2018 USCAR www.naamsstandards.org This document is Uncontrolled when printed. G-76




(G108 SERIES)

SHIM - BALANCE BLOCK

GLOBAL STANDARD COMPONENTS

.NAAMS

Stamping

a7

R10 TYP.

aD L NAAMS CODE T(THICKNESS)
50 | 40 G108050N-_ 0.05 mm
60 | 45 G108060N-_ 0.10 mm
0.20 mm
75 | 52.5| G108075N-_ _ _ 0.30 mm
80 | 55 G108080N-_ 0.40 mm
100 | 65 | G108100N- 0.50 mm
80 | 47 G108080S-_ _ _
100 | 57 G108100S-_ _ _

ORDER EXAMPLE:

NOTES & SPECIFICATIO

NS:

MATERIAL: 1SO X5CrNi 18 10

BREAK ALL SHARP EDGES
MARK WITH NAAMS CODE AND MANUFACTURE’S INDENTIFICATION

G108 060N - 005
SHIM THICKNESS

(005=0.05, 010=0.10,....050=0.50)
N=Ford & GM  S=Stelantis

BALANCE BLOCK DIA.

© 2021 USCAR www.naamsstandards.org

This document is uncontrolled when printed.

G-77



SHIM - WEAR PLATE NAAMSA

GLOBAL STANDARD COMPONENTS

[17
Nl it

FORM A FORM B
t«———B1— > 25 = 1

| 450
L1 - @y RIOTYP. L1
L2
a7
‘ LA
. CR : RETYP. |,
‘ J L3
R3 TYP. oD f R3TYP.
FORM C

T [THICKNESS
005 0.05mm
010 0.10mm
020 0.20mm
030 0.30mm
040 0.40mm
050 0.50mm

ORDER EXAMPLE:

G109 050 125 - 005
SHIM THICKNESS (T)
(005=0.05, 010=0.10,....050=0.50)
WEAR PLATE LENGTH (L1)
WEAR PLATE WIDTH (B1)

NOTES & SPECIFICATIONS:

MATERIAL: 1SO X5CrNi 18 10
BREAK ALL SHARP EDGES
MARK WITH NAAMS CODE AND MANUFACTURE’S INDENTIFICATION

© 2021 USCAR www.naamsstandards.org This document is uncontrolled when printed.

G-78



SHIM - WEAR PLATE

GLOBAL STANDARD COMPONENTS
bt

NAAMSS

(G109 SERIES) Stamping 02/1 1/22
B1 +0.25 | L1 %0.25 | FORM | B2+0.2 | L2 #0.2 [ L3 #0.2 oD

100 50
125 A 75

50 160 - 110 25
200 150
100 A 50
125 75

80 160 - 110 25
200 150
50 C 50 - 25
80 - 40

100 100 50
125 A - 75 25
160 110 13.5
200 150
80 C - 40
100 50

125 125 B 75 75 25
160 110
200 150
100 50

160 125 B 110 75 25
160 110
200 150

© 2021 USCAR www.naamsstandards.org

This document is uncontrolled when printed.

G-79



	G_1_48
	G_Kai_4.pdf
	G_Kai_3.pdf
	G_Kai_2.pdf
	G_Kai.pdf
	Update_G-1.1x
	Update_G-1.2x

	combi_49-53
	Update_G-49
	Update_G-50
	Update_G-51
	Update_G-52
	Update_G-53


	combi_55-59
	Update_G-55
	Update_G-56
	Update_G-57
	Update_G-58
	Update_G-59


	combi_60-64
	Update_G-60
	Update_G-61
	Update_G-62
	Update_G-63
	Update_G-64


	G_49_55
	G_56_65
	G_Kai_4.pdf
	G_Kai_3.pdf
	G_Kai_2.pdf
	G_Kai.pdf
	Update_G-1.1x
	Update_G-1.2x

	combi_49-53
	Update_G-49
	Update_G-50
	Update_G-51
	Update_G-52
	Update_G-53


	combi_55-59
	Update_G-55
	Update_G-56
	Update_G-57
	Update_G-58
	Update_G-59


	combi_60-64
	Update_G-60
	Update_G-61
	Update_G-62
	Update_G-63
	Update_G-64


	G_66_70
	G_Kai_4.pdf
	G_Kai_3.pdf
	G_Kai_2.pdf
	G_Kai.pdf
	Update_G-1.1x
	Update_G-1.2x

	combi_49-53
	Update_G-49
	Update_G-50
	Update_G-51
	Update_G-52
	Update_G-53


	combi_55-59
	Update_G-55
	Update_G-56
	Update_G-57
	Update_G-58
	Update_G-59


	combi_60-64
	Update_G-60
	Update_G-61
	Update_G-62
	Update_G-63
	Update_G-64





